IB Pre HL:  Complex number WS (due by the end of period)-Work with your group members only.

									Names: ___________________________ 





1)  Given that, , ,  and  calculate:


a.  							b.  















a. ____________________				b. __________________




 2)  Find the real number  and  that satisfies .
























3)  Find the complex number  where  that satisfies the equation, .
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4)  Suppose .  Find z in the form  where .
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Calculate these quotients and check your answers with a GDC.
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2 Find the real numbers @ and b that satisfy these equations.
a Q+ia+iby=11-2 PRLL Y

c (Gi-2)(a+it)=3+28i d (;»2, a+ib)=—3+2i
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5 Tind the complex number z that satisfies these cquations.
a (z+1)i +2i)3 +2i) b (2z-D)(1+i)=(z-1)(2+3)
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